THM3FE BRAKIHMHBRR—RI[EFFNAZHFEE

2
R A 24,476,000 M
X 24,476, 000 1
IR A D ER (B4 M)
ES 15 B AEEFELE (MEELUTHE e 8 ff &
1. &8 17,616, 000[ 17,977,000 A 361,000
1.#E68 17,616,000[ 17,977,000 A 361,000
1. REHRES 15,116,000| 15,477,000 A 361,000
2. 55RIEERS 2,500, 000 2, 500, 000
2. {EhE 2, 320, 000 1,000, 000
1. e 2, 320, 000 1,000, 000
1. #Bhe 2, 320, 000 1, 000, 000 B@me. Ehene
3. fERAH 1, 940, 000 2, 200, 000 A 260, 000
1. EAMH 1, 940, 000 2, 200, 000 A 260, 000
1. JKBR B A 1,190, 000 1, 400, 000 A 210, 000|452 5 A%
2. FHHTBUE AR 750, 000 800, 000 A 50, 000[FHRE & A
4. IR A 0 630, 000 A 630, 000
1. FIRA 0 630, 000 A 630, 000
1. FURA 0 630, 000 A 630, 000
2. EEFIF 0 0
5. BEEINA 100, 000 93, 000 7,000
1. BEEIRA 100, 000 93, 000 7,000
1. RIERER & 100, 000 43,000 57, 000
2. BEEIA 0 50, 000 A 50,000
6. I RAE 0 0
1. 1&g A% 0 0
1. 1gA% 0 0
1. 1&dE 2,500, 000 2, 400, 000 100, 000
1. 1gHe 2,500, 000 2, 400, 000 100, 000
1. AIEERHE 2,500, 000 2, 400, 000 100, 000
8. fEAE 0 0
1.fEAS 0 0
1.fEAS 0 0
& F 24,476,000 24,300, 000 176, 000




X HDER (B M)
2 1§ | AEETFEHLE [MEELTHE ke 8 ft &
1. E%E 8,556,000 10,514,000 A 1,958,000
1. 88%8 50, 000 90, 000 A 40,000
[1. &% 50, 000 90, 000 A 40,000
2. £%E 8,506,000 10,424,000 A 1,918,000
1. 1% B $REN 1, 040, 000 720, 000 320, 000(1% & $REN
2.4 # 3,524, 000 4,124,000 A 600, 000[BiE 14, /\— K14
3. MEFY 148, 000 148, 000
4. H£EE 331, 000 331, 000 ELXES, BERRKR
b. 8% 50, 000 48, 000 2,000(EmaeaipEitaias
6. ik & 100, 000 230, 000 A 130, 000| %5 8 e &
1. HHMEELEE 360, 000 100, 000 260, 000
8. EXEBEHREE 753, 000 1,073, 000 A 320,000/ ERUVRREEREE
9. BRE 300, 000 500, 000 A 200, 000[#5F
10. ERE 800, 000 800, 000 ERHA. RES
1. X[EE 50, 000 50, 000 EFREE
12. EXREE 50, 000 100, 000 A 50,000
13. EEH 0 1,200,000 A 1,200,000
14.5% & 0 0
15. &% & 1,000, 000 1,000, 000 BIEE., 5V 7 METFHE
2 MBEEHE 10, 600, 000 9, 242,000 1,358, 000
1LHBFERE 10, 600, 000 9, 242, 000 1,358, 000
1. #5E 2,500, 000 3, 000, 000 A 500,000[kPq. R TESRE
2. EIEE 4,500, 000 4, 000, 000 500, 000|BEN| Y, &, BEFAFLE
3. IEE 3, 300, 000 2,000, 000 1,300, 000|dr i VR B X 5R
A REE 0 0
5.4 & 300, 000 242,000 58, 000| PR & #I 25
S EEERUVFF 0 0
1L EEERUVHF 0 0
1. —BHEASRITF 0 0
2. BETE 0 0
A BAEE 1,500, 000 1,000, 000 500, 000
1. igH& 1,500, 000 1,000, 000 500, 000
| BELBHE 0 0
2 BRSBTS 0 0
3. B E 300, 000 1,000, 000 A 700, 000[fiEFeiE L £ RIRET~
4 BIEERBES 0 0
b BEBEIS 1,200, 000 0 1,200, 000(FE E B I SHFRREA~
& 18 B AEETHEE [MEELTHE e B f+ &
5.3 & 2,926, 000 2,726, 000 200, 000
1. %1% 0 0
1. BRI Fe 0 0
2. B 0 0
2. 818% 2,726, 000 2, 726, 000
1 EEEEaiEs 2,500, 000 2, 500, 000 EEMMANIKEEXEIES
2. #AEE 226, 000 226, 000 B @RS
3.5 B 200, 000 0 200, 000
1LBFEEXH 0 0
2. GEME 0 0
3. BEMENE 200, 000 0 200, 000




6. LEETE 300, 000 500, 000 A 200, 000
L EwEDE 300, 000 500, 000 A 200, 000

. R3RESE 300, 000 500, 000 A 200,000/ Rk, NI Ly E
1. FiEE 994, 000 318, 000 2176, 000
1. PiRE 994, 000 318, 000 2176, 000
1. FikE 994, 000 318, 000 2176, 000
5 &t 24,476,000{ 24,300, 000 176, 000




SHIFEE BRAKIHBABERRERBILIESHFISFFTRAZHTFESES
w A 6,970,000 H
% H 6,970,000 H
IR A DER (B M)
E 34 1§ B AEETELE |MEELDTEE i & f &
1.1 8A% 300, 000 1,000,000 A 700, 000
1.12AZ 300, 000 1,000,000 A 700, 000
1.8 &A% 300, 000 1,000,000 A 700, 000(—fg<st & Y
2. HURA 0 0
1. IR A 0 0
[1. #URA 0 0
3. e 6, 670, 000 6, 369, 000 301, 000
1. &He 6, 670, 000 6, 369, 000 301, 000
1. BT FE{EHN 6, 670, 000 6, 369, 000 301, 000
& &t 6, 970, 000 7,369,000] A 399,000
X HDER (BfHr [)
E 54 18 B AEETFELE (MEEL0TEE ke & Tt I
1.128% 0 0
1.18H& 0 0
1. 18H& 0 0
2% & 0 0
2. P& 6, 970, 000 7,369,000 A 399,000
1. $HE 6, 970, 000 7,369,000 A 399,000
. FiEE 6, 970, 000 7,369,000 A 399,000
& &t 6, 970, 000 7,369,000 A 399,000
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v A 0HM
* H 0HM
U A DER (BfL M)
% 15 8 AEEFELE |sEELoPEE &K ff &2
1488 0 0
1.{A6%E 0 0
.65 0 0
2. ML A 0 0
1. U A 0 0
[1. U A 0 0
S EELEEXRGE 0 0
IS 0 0
1. Xft& 0 0
2. 55RIR 4 0 0
4 igiaE 0 0
1. i@ 0 0
[1. & 0 0
& &t 0 0
X HDER (B M)
=% 18 B AEEFELE |seELsoPEsE b &K ff &
1. 8HE 0 0
1. 8HE 0 0
1.0 £€ 0 0
2. ¥ RIHLE & 0 0
3. ZEF5EiES 0 0
2. £%E 0 0
1.E5%8 0 0
EE 0 0
3. EXE 0 0
[EET 0 0
1. TE& 0 0
2. BENE 0 0
3. & 0 0
4. FlEE 0 0
1. FiEE 0 0
. FEE 0 0
& &t 0 0
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SHMIEE FHRAKIHMABREMERAREFEFIRIFTNAZIEFTFEE (B)
v A 50, 318, 000 M
* H 50, 318, 000 M
LA DER (4 M)
# | & = AEEFUE (nErunTEE 4 =@

1. EHhELRREE 3,000, 000 3, 000, 000
1. B R ESE 3,000, 000 3, 000, 000
|1. BihiRRES 3,000, 000 3, 000, 000
2. #IXA 0 0
1. #UXA 0 0
|1. MEURA 0 0

5. fgHE 47,318, 000 41, 544, 000 5,774,000

1. f&8E 47,318, 000 41, 544, 000 5,774,000

|1. e 47,318, 000 41, 544, 000 5,774,000

& &t 50, 318, 000 44,544,000 5,774,000

X H O (M)
# | & = AEEFUE (nEEsnTEE  H =

1.#8H<€ 0 0
1. #8t<€ 0 0
[ @xz 0 0

2. FiRE 50, 318, 000 44,544,000 5,774,000

2. PiRE 50, 318, 000 44,544,000 5,774,000

|1. T E 50, 318, 000 44,544,000 5,774,000

& &t 50, 318, 000 44,544,000 5,774,000
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= A 1,045, 000 M
X H 1,045, 000 M
IR A DER (B )
N L] = AEETRE |MFEELOTHEA kb 8 f+ &
.2 £ 0 0
.= & 0 0
I.& # 0 0
2. FUXA 0 30, 000 A 30,000
1. IR A 0 30, 000 A 30,000
1. IR A 0 30, 000 A 30,000
3. fEAH 0 1,200,000] A 1,200,000
1. AR 0 1,200,000] A 1,200,000
1. E8% 0 1,200,000] A 1,200,000
4. s 1,045, 000 710, 000 335, 000
1. s 1,045, 000 710, 000 335, 000
|1 BT EREE 1,045, 000 710, 000 335, 000
a &t 1,045, 000 1, 940, 000 A 895, 000




3z H D AR

= 18 =] AEETEE MFELNTEE kb & f &
1. it g 150, 000 300, 000
| Haasug 150, 000 300, 000
. Hei R 150, 000 300, 000 BIRE., EEH
2. EBmE 30, 000 30, 000
1. E2BE 30, 000 30, 000
.EBE 30, 000 30, 000
2. EREEAE 0 0
3. M EED 90, 000 100, 000
| HFEEE 90, 000 100, 000
| S 90, 000 100, 000 AREE
2. EBE 0 0
4.5 B 100, 000 100, 000
1.5 & 100, 000 100, 000
1. 848% 100, 000 100, 000 AHTRES, RIERH
S B 0 0
L3 = 0 0
1.3 % 0 0
6. EHEE 0 900, 000 A 500, 000
1. EREE 0 900, 000 A 500, 000
= 0 900, 000 A 500, 000
1. FiH& 115, 000 910, 000 A 195,000
1. FEE 115, 000 910, 000 A 195,000
. FHE 115, 000 910, 000 A 195,000
a &t 1, 045, 000 1, 940, 000 A 895, 000




TH3EE BRAKLIHMHIRRBERBESHEIEHIZTTRAZIHTIEE (B)

A 4,096, 000 F
X H 4,096, 000 F
IRA DER (M)
# | = g AEETEE | nEELnTE b 8 W =

1.8 A& 0 0
1 BAR 0 0
[Em#E58AS 0 0

2. #UTA 0 1,000 A 1000

1. #URA 0 1,000 A 1000

[1. U A 0 1,000 A 1000
3. fgHE 4,096, 000 4,096, 000
1. #&8E 4,096, 000 4,096, 000
[1. BT ERISE 4,096, 000 4,096, 000

a5 &t 4,096, 000 4,097, 000 A 1000

X H O (M)
% | = g AEETEME [MEELNTEE & W @

e 0 0
1% & 0 0
1 BREE 0 0
2% & 0 0

2. 7 l6& 4,096, 000 4,097, 000 A 1000

1. FiE& 4,096, 000 4,097, 000 A 1000

|1. FiEE 4,096, 000 4,097, 000 A 1000

= 4,096, 000 4,097, 000 A 1000




SHIEE BRAKIHMUABREFXRBIUIESHFISRIFRAZHFEE ()
w A 1,200, 000 H
% H 1,200, 000 AH
IR A D ER (Bf [)
x| B' = AEETEE MEELnTEE b & i+ &
1.18AZ 1,200, 000 0 1,200, 000
1. 18BA% 1,200, 000 0 1,200, 000
[1. &A% 1,200, 000 0 1,200, 000|—f#&Et &k Y
2. HEIRA 0 0
1. IRA 0 0
[1. %X A 0 0
3. g 0 0
1. 1@< 0 0
1. BT EE{EHN 0 0
& &t 1,200, 000 0 1,200, 000
X HDER (Bf A
% | &\ | B AEETELE (meEsnTEE b &K i+ &
- 0 0
- 0 0
1. #EE 0 0
2.8 & 0 0
2 FEE 1,200, 000 0 1,200, 000
1. FRE 1,200, 000 0 1,200, 000
[1.FEE 1,200, 000 0 1,200, 000
& &t 1,200, 000 0 1,200, 000




